N = 0l & AF & F Al A

2000 = =0l & 2 BHa A

ton

SN S EAEIIED
HE: IS (ASZX/ES - HEL0A)

Bl HEOtSE RO (el &)
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ HusZ
HEHEAEIISW 190,804,643 142,259,856 48,544,787
= 122,040,074
s 6,564,000
Il 1,786,165
= 936,340
e 59,478,064
HENEEM(MISX/ES - IISLAHY) 11,780,697 10,281,688 1,499,009
= 5,737,778
p) 191,935
= 424,292
S 5,426,692
(GRS Rpl = 1,557,000 772,000 785,000
= 248,500
= 1,308,500
HEZEMNLHA2L 850,000 384,000 466,000
306 == 850,000 384,000 466,000
01 =9z 850,000 384,000 466,000
Ogddiga=d 850,000
TFEoeoE=dg 294,000 274,000 20,000
307 QIZ2toI M 294,000 274,000 20,000
05 BItRIE= 294,000 274,000 20,000
O=&E0eo&8=2dY 294,000
HEFEAEINEHRFA 93,000 73,000 20,000
201 LEHRHH| 38,000 33,000 5,000
01 AtR2teld 38,000 33,000 5,000
OASEIMRULESZSHES 10,000
OHdEAE ISR L El=Z2H] 20,000
OfI2s =220l 8,000
202 O 35,000 30,000 5,000
01 2ol 35,000 30,000 5,000
O EEAEIIEHRFA 0] 35,000
203 YR=&dl 20,000 10,000 10,000
03 AIHMFIA2FAH| 20,000 10,000 10,000




SN O AEIIED
o OIS IM(ASSX/BS - HEL0S)

CHol: OfS P F EOp e (cHol: &2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
OdEAEINELRFA 20,000
KNS LI E TR AL 320,000 41,000 279,000
=2 248,500
& 71,500
307 QI2toIA 41,000 41,000 0
=2 20,500
= 20,500
05 BIZtREZ 41,000 41,000 0
OXNS 8RN L E SR 41,000
= 20,500
= 20,500
308 NXIHHSOIE 279,000 0 279,000
= 228,000
L= 51,000
01 NXHMBILEXS 279,000 0 279,000
OWADAILodHZ Y 279,000
= 228,000
< 51,000
He3nassd 60,000 60,000 0
HEFHAXNNALHLEX 2 S 60,000 60,000 0
308 NXIHHSOIH 60,000 60,000 0
01 XXEHHILEXS 60,000 60,000 0
OdFARNIHH2Y 60,000
Yol aEfg & ot 520,000 460,000 60,000
= 400,000
& 120,000
HEQSEINSHH2 S 520,000 460,000 60,000
= 400,000
= 120,000
307 QI2told 520,000 460,000 60,000
&2 400,000
= 120,000
02 2ItAa=2X 520,000 460,000 60,000
Oodeleigde2HHI(01) 520,000




S HdEAEIIEL

B OIS (ASISX/E2S - HEL0A)
CHol: 014 Q12D 2 & A Bt (S92l
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
= 400,000
= 120,000
HeLRel&Es 60,000 96,000 236,000
NESEE L L Rel X 60,000 60,000 0
308 XNXIEHHSOIE 60,000 60,000 0
01 NXHMBILEXS 60,000 60,000 0
OXNSE SO LI X F A 60,000
LHBES 2ottt 174,292 24,292 150,000
= 24,292
= 150,000
BT E L LAY 150,000 0 150,000
307 glzZtold 150,000 0 150,000
02 BltFaExX 150,000 0 150,000
OBSHL 4 EEHLH2AS 150,000
e F=2tALS 24,292 24,292 0
2 24,292
307 QI2toIH 24,292 24,292 0
&2 24,292
04 QIZ2HHAIE X 24,292 24,292 0
OO & =21 E 4 AHO0I) 24,292
=2 24,292
Heddsd 1,759,276 1,644,101 115,175
= 953,650
| 191,935
L= 613,691
HEZOHCIALSI & O = CH KT & 37,500 37,500 0
= 25,000
& 12,500
308 AHXIHMSOIH 37,500 37,500 0
= 25,000
= 12,500
01 XIXSHHBLAEXS 37,500 37,500 0
O S HHA A2t ALY 37,500
= 25,000




FA HdEAEIIE

HH: IS HU(ASN/ES - HEL0Y)
Tl Ol RS (S d e
- _ _ ME
SA-ZH - S2A(3AH) - MEAME - HES Off &+ o4 Ofl At ot Blusz

= 12,500
CEEE S 65,000 65,000 0
307 2I2told 65,000 65,000 0
02 QAANDE 65,000 65,000 0

(1136621 ST H 2 20,000

IR EHg =S| 22 10,000

Oos=a0g=sns 20,000

O A=A A LB A 15,000
A=A LS 3,600 54,500 50,900
308 XX S+ SO0IH 3,600 54,500 50,900
01 NXESHALNSES 3,600 54,500 /50,900

O3nuded 3,600
LTMHE LM 21,000 21,600 £600
308 AHXIEHHS0IH 21,000 21,600 600
01 XXSHALNSES 21,000 21,600 £600

DY LM 21,000
HASOLXE X 12,000 5,000 7,000
308 XX EHXI SOIH 12,000 5,000 7,000
01 XXESHALSES 12,000 5,000 7,000

ORASHAIIERS 12,000
SO XL T H K E S 163,262 78,490 84,772

= 130,336

= 32,926
308 AHXI S+ SO0IH 163,262 78,490 84,772

2 130,336

-3 32,926
01 MXSHBLSZES 163,262 78,490 84,772

)4 OH DR I00 64 X X1 21 A & 2 & X 2 75,250

= 61,971

= 13,279

OsmatagsedXa 75,809

=2 58,315

(= 17,494




FA HdEAEIIE

2 IS U(MESX/ES - HSL0Y)
Sl OEAAST (5l &2
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K %Egﬁ Hws2
EEN R EEESE] 12,203
2 10,050
= 2,153
IIEEe . HEAUT UL AR () 344,858 315, 184 29,674
2 202,299
= 142,559
307 21201 344,858 315, 184 29,674
2 202,299
= 142,559
2 LIAANBE 344,858 315, 184 29,674
(0121 2 X 3H3662 Y X 192,256
2 %, 128
= %, 128
ORASKALE 2 149,350
= 104,545
= 44,805
[0S - GiE 25X AL AL 3,252
2 1,626
= 1,626
IIMEY . HEAGT LT AR (AIR) 869,971 889,623 £19,652
2 596,015
= 273,956
308 XHXIEHH SOIH 869,971 889,623 A19,652
2 596,015
= 273,956
01 KASHALRES 869,971 839,623 £19,652
mpJE BT PN PN L 355,296
2 236,864
= 118,432
WP bik] 310,884
2 207,256
= 103,628
Osgagiegne 71,668
2 47,779
= 23,889




SN 8 EAEIIED
o O HISIM(ASSX/BS - HEL0S)
o9 OlgHAST (9l & 2

SN HB SR (BIH) - A - B S 0l &b S D=2
- cTo=m IO T ° - [EEMREECES &= 0:”/‘l|_% WS

(DI ZGIH A ESAE2E XA 117,623
= 96, 866
= 20,757
OWdZ=SSMAN=S 14,500
= 7,250
= 7,250

HE=EY - A=Yl S L THE A 145,308 138,904 6,404
| 114,960
& 30,348

308 AHXIHMSOIH 145,308 138,904 6,404
Il 114,960
= 30,348

01 XXSHHBLAEXS 145,308 138,904 6,404
Ol Xz =L 082S 17,000
Il 14,000
= 3,000
Ot AW EBXNSEZ2]HZH 95,928
J| 79,000
< 16,928
Ooloi A S =& 2,380
Il 1,960
= 420
COHE - 4 Z&0lofl K2l =2 HI 30,000
| 20,000
< 10,000

Ol=HEE2sZ=ZAToioey 96,777 0 96,777
Il 76,975
= 19,802

307 QIZt0IA 22,000 0 22,000
| 15,400
L= 6,600

02 QtFAE X 22,000 0 22,000
oIE= g2 HZESLINE DS 22,000
| 15,400
< 6,600




FA HdEAEIIE

By OAIIEZH(ASRN/ES - HEL0S)
o9 OlgHAST (S92l
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 e HRE2
308 NXIHHSOIE 74,777 0 74,777
| 61,575
= 13,202
01 XNXEHHMILEXS 74,777 0 74,777
OZATHOIFHLRSAL2Y 74,777
Il 61,575
= 13,202
HYBIINEZ2S LY 6,960,629 6,233,395 727,234
2 4,535,628
= 2,425,001
AL NE L& 45,000 35,000 10,000
307 glz2told 45,000 35,000 10,000
02 glztFaEx 15,000 15,000 0
OAZ I EOF3LCI Ol 15,000
04 CIZtHALE X 30,000 20,000 10,000
mbE-=SIIEL PN 30,000
CHR SRR (RHA) 219,000 116,000 103,000
201 ZEH2IH] 20,000 30,000 210,000
01 AR 2&cldl 20,000 30,000 A 10,000
B R E-ET] 10,000
OZ=012 et e 2t 10,000
301 Lptsaazg 6,000 6,000 0
10 BAIAHIENS 6,000 6,000 0
OGRS S L B AR S Al 2 4 6,000
307 21201 193,000 80,000 113,000
02 QtFAE X 193,000 80,000 113,000
DZE0IR084SIISSa 30,000
OgelttEstdad 15,000
O=HZEENSBARNELDS 5,000
OCHR S S0 SR B0 Y 50,000
OCHR SIS A A K 28 43,000
B ERNEE TR 10,000
Ds&2 2010004 5IISHD 40,000




S HdEAEIIEL

o O HIEIM(ASSX/BS - HEL0S)
CHel: HABIIE 2SI E A (S92l
_ _ HE T
SM-EH . C(BH) - HRAY - B2 Aol il i~ o HRE2
ZE0QHE AN EH XA 101,500 100,000 1,500
201 BH2EH] 1,500 0 1,500
01 AtS2cldl 1,500 0 1,500
REEEICERNC S 1,500
307 21201 100,000 100,000 0
06 2= 100,000 100,000 0
OZS012 L a2 X 100,000
ZE0/Q XA 338,000 350,000 A 12,000
308 AtXIHMSOIH 338,000 350,000 A 12,000
01 RXSHBHEES 338,000 350,000 A12,000
OZ2E012HdHE2Z 33,000
mEECPE L 240,000
mESIENEEPAEI
Hl 65,000
U2t sts =<0 K& 135,000 0 135,000
307 QI2t0IA 135,000 0 135,000
02 2AHAEX 135,000 0 135,000
OUEHALASE=ESEL 60,000
OCH2 S 2 H & E X 75,000
SR ISR S DA 40,000 36,000 4,000
307 QI2t0IA 40,000 36,000 4,000
04 QIZHHAIE X 40,000 36,000 4,000
et 2IIENEs =Y 40,000
SHR D=2 (RHA) 444 690 352,000 92,690
308 AHXIHMSOIH 444,690 352,000 92,690
01 RXCSHBHEES 444,690 362,000 92,690
mEEI=B/ES R 72,000
mEE=RESVEIE 81,000
mEEI=blEEIVET= 112,290
(et 2IIEEsAHE 179,400
SIRDIIESXIAIE X (XAt 167,232 140,810 26,422
201 LEH23H] 2,100 0 2,100
01 A2l 2,100 0 2,100




SA: HEHAAIIED
Ha: OfMIIEZM(ASIZX/ES - HEL0A)

el AABIIS S EA (S92l @8
SN EB -GS - MBAY - BES 0 & 24 e HRE2
BECEPEES NP RIEE P, 2,100
308 XXIEHSOIH 165, 132 140,810 24,322
01 RNASHINEES 165, 132 140,810 24,322
D8R 2SSX AL BAR 2 (01) 20,160
2R S ALY A H CHGHH 22181 (012) 7,050
et RIS AIL 2T A L2 ZHI(
012) 6. 150
DB RSN AL SSRR(012) 131,772
EEEPENEICES 1,372,312 1,326,375 45,937
2 1,219,833
= 152,479
308 XHXIEHISOIH 1,372,312 1,326,375 45,937
2 1,219,833
= 152,479
01 RASHBHESES 1,372,312 1,326,375 45,937
OS2 2ENHSS - DSHIX 1,372,312
= 1,219,833
= 152,479
SEDINEZR LT A (EF) 45,000 106,200 £61,200
2 30,000
= 15,000
403 XtXISHISKHEO0IE 45,000 106,200 ~61,200
2 30,000
= 15,000
01 RASHREEE 45,000 106,200 61,200
e eSS ALIIs2Y 45,000
2 30,000
= 15,000
REENIPE 308,394 351,900 743,506
2 253,971
= 54,423
308 XHXIEHHISOIH 308,394 351,900 43,506
2 253,971
= 54,423




SN S EAEIIED
o OHIISIM(AESN/2S - )5

He
2
0x

Sl HAABIIE2SEY (e @
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
01 KACSHBARES 308,394 351,900 43,506
[JOH0l S 20l X2 308,394
2 253,971
= 54,423
AUNF N BUE S 330,750 330,000 750
2 220,500
= 110,250
308 KXIEHSOIH 330,750 330,000 750
=2 220,500
= 110,250
01 NASHBLEES 330,750 330,000 750
ORALINZ XN AHE 2 330,750
2 220,500
= 110,250
EPENEICES 3,413,751 2,989, 110 424,641
2 2,811,324
= 602,427
308 KXIEHSOIH 3,413,751 2,989, 110 424,641
2 2,811,324
= 602,427
I EREREES 3,413,751 2,989, 110 424,641
OUSstsadeey 773,500
2 637,000
= 136,500
OUSsIsgelsAYey 2,640,251
2 2,174,324
= 465,927
01 &1 ©| AL 51 & OF =t f 689,500 971,900 282,400
01 &1 O Ab 3| & 04 2 TH K| & 27,000 17,000 10,000
201 ereg| 2,000 2,000 0
01 AtR2t2lH| 2,000 2,000 0
[I1 24 OF & £ R & 20 AV I = 2,000
202 OfHl 10,000 10,000 0
01 =Uoitl 10,000 10,000 0
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SN O AEIIED
o O HIIEIM(ASSX/BS - HEL0S)

E2l A2 AE & O 2 (ctel &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K '@,‘;OH Hos
307 2I2t0IA 30,000 25,000 5,000
02 QAAALZ 30,000 25,000 5,000
OZASzol s sl 30,000
HESAESHEZ2SE 55,200 55,200 0
308 AtXIEHHSO0I& 55,200 55,200 0
01 XXSHHBALEES 55,200 55,200 0
O SAIESHER2Y 55,200
OENREST2 BN 41,400 41,400 0
308 RHXIEHHISOIA 41,400 41,400 0
01 XXSHHBALES 41,400 41,400 0
O ASsST2 41,400
NZOETASAX DR 20,700 20,700 0
308 XRHXIEHHISOIA 20,700 20,700 0
01 XXSHBALEZS 20,700 20,700 0
OANZHAE XS AL S 20,700
olsogs22y 69,000 69,000 0
308 AtXISHXSO0I& 69,000 69,000 0
NP ENEES 69,000 69,000 0
[(OIsHdsl22d 69,000
oesey 55,200 20,700 34,500
308 XX EHHISOIA 55,200 20,700 34,500
01 XXSHHBALES 55,200 20,700 34,500
Odiist2g 55,200
HNSHEDS 5,000 5,000 0
308 RHXIEHHISOIA 5,000 5,000 0
01 XXSHHBAEES 5,000 5,000 0
OFSHEDS 5,000
Hasl2AHY 300,000 600,000 300,000
403 XXM EX20IH 300,000 600,000 A300,000
01 XXSHIE2LE 300,000 600,000 300,000
O da2al=s 300,000
HEMUIALOISHASA (M SX/ES - IFL0Y) 166,179,836 122,289, 147 43,890,689
= 115,574,296
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EA HEELEIIEL
M ESMHALOGSHEASH(MESX/ES - Ot

Jh
He
2
0x

Sl BSAHIAXE (£9: @)
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ggi Blusz
= 320,124
= 50,285,416
SSMHIATIR 145,295,231 103,614,717 41,680,514
2 108,551,917
= 36,743,314
ESHUL AL X 11,300 11,300 0
201 ereo| 11,300 11,300 0
01 ARzl 11,300 11,300 0
OES3u9ast2 R0l 5,000
OESE29I235 452 0| 6,300
ES0SR22RAANY 600 600 0
303 mAZ 600 600 0
NEE 600 600 0
OES0SYPRBB2AIL 600
ERAEOER2DS N 30,000 30,000 0
307 @I2H0IM 30,000 30,000 0
02 QIAHAEE 30,000 30,000 0
OESALSER2 RS 30,000
BEALBAX 2K 35,000 15,000 20,000
307 212+0I A 35,000 15,000 20,000
02 SI2FAEE 35,000 15,000 20,000
O2SALSAX 2K 2 35,000
BEALSARES DS 10,000 10,000 0
307 BI2H0IF 10,000 10,000 0
02 QIHAMEZX 10,000 10,000 0
O2SAESAGES RSN 10,000
ESyRUHTZIESY 30,000 10,000 20,000
307 @I2H0IF 30,000 10,000 20,000
02 QIAHARE 30,000 10,000 20,000
SEE R = ] 30,000
HASE2S0IS 2t 1,260,000 1,260,000 0
308 KA EHHSOIA 1,260,000 1,260,000 0
01 KACSHBARES 1,260,000 1,260,000 0
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SA S EAEIIE
B B AHIALO0}

O &

AU (MR /2F - HELCA)

&l EFAMHIAXA (el =
_ _ _ Muo
SN CR(EH) - NRAY - BES 0] &F o e HlE2
OMASES0ts2AHI K& 1,260,000
SEFAESRH] 72,000 72,000 0
308 XNXIHHMSOIE 72,000 72,000 0
01 AUXHHBLEEZ 72,000 72,000 0
OESAIEXER A 72,000
MASES0ts22Z ] 60,000 85,800 A 25,800
308 AHXIHMSOIH 60,000 85,800 A 25,800
01 AUXHHBAEEZ 60,000 85,800 A25,800
OMASES0tSAHL Z A 60,000
Aol ES=Z XA 800, 174 870,174 A70,000
308 NXIHHSOIH 800, 174 870,174 A70,000
01 XXEHHBILEXS 800, 174 870,174 A70,000
OAMoIZEXNEEES K& 800, 174
QA SAEESDAMHSRINLEIXIA 1,296,000 720,000 576,000
308 XAXIEHMSOIA 1,296,000 720,000 576,000
01 NXHMILEXS 1,296,000 720,000 576,000
ORI EBFSAEEF DAL S IH &I 1,296,000
ZOHOIESAESANSEESF 129,000 66,000 63,000
308 AHXIHMSOIH 129,000 66,000 63,000
01 AUXHHBLEEZ 129,000 66,000 63,000
OZHOtESAESANSEE S 129,000
E2F0sZ0MHII1H &l 10,800 10,800 0
308 NXIHHSOIH 10,800 10,800 0
01 XXEHHILEXS 10,800 10,800 0
O2=0tsH M =I1& &bl 10,800
G2t 3N EESA &2 18,000 14,000 4,000
308 XXIESMSOIH 18,000 14,000 4,000
01 NXHMILEXS 18,000 14,000 4,000
OG2s It MEESAE 29 18,000
ERFZHH2Y 200,000 200,000 0
= 100,000
= 100,000
307 QI2told 200,000 200,000 0




EA HEELEIIEL
M ESMHALOGSHEASH(MESX/ES - Ot

Jh
He
2
0x

CHol: BE AU AXE (S92l
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2

307 glz2told = 100,000
= 100,000

02 BlZtFAE=X 200,000 200,000 0
OEsZ2dH2E 200,000
= 100,000
< 100,000

QS FAIE W w2 703,018 766,983 263,965
= 540,783
L= 162,235

308 NXIEHHSOIE 703,018 766,983 A63,965
= 540,783
& 162,235

01 XXSHHBILAEXES 703,018 766,983 263,965
OIS S Al & W W +h| 703,018
= 540,783
= 162,235

ESAMENE2EHI 677,204 645,063 32,141
= 520,926
= 156,278

308 NXIHHSOIE 677,204 645,063 32,141
= 520,926
& 156,278

01 AXSHBAEXZ 677,204 645,063 32,141
OESAIEXE22 677,204
= 520,926
< 156,278

HLASEANSESZ 90,366,042 45,996,522 44,369,520
= 69,512,340
= 20,853,702

308 NXIHHSOIH 90,366,042 45,996,522 44,369,520
= 69,512,340
L= 20,853,702

01 AXHHBAEXZ 90,366,042 45,996,522 44,369,520
OMASENSEES 90,366,042
= 69,512,340




EA HEELEIIEL

By SRMHAUGSAASA(MSIST/2S - IEL0HA)
CHol: BE AU AXE (eH9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2

= 20,853,702

SHNIOIR A EE S 10,779,059 9,088,810 1,690,249
= 8,291,584
= 2,487,475

308 NXIHHSOIE 10,779,059 9,088,810 1,690,249
= 8,291,584
< 0,487,475

01 AXHHBAEXZ 10,779,059 9,088,810 1,690,249
CICMOtRAEE S 10,779,059
= 8,291,584
< 2,487,475

ZUotRAE=SR 4,770,553 3,525,820 1,244,733
= 3,669,656
= 1,100,897

308 NXIHHSOIH 4,770,553 3,525,820 1,244,733
= 3,669,656
= 1,100,897

01 NXEHHMILEXS 4,770,553 3,525,820 1,244,733
OHHOIRAEES 4,770,553
= 3,669,656
= 1,100,897

SAHHOIMNE=SSE 6,735,748 3,123,956 3,611,792
= 5,181,345
= 1,554,403

308 AHXIHXMSOIH 6,735,748 3,123,956 3,611,792
= 5,181,345
= 1,554,403

01 XXEHHILEXS 6,735,748 3,123,956 3,611,792
SHHOAEER 6,735,748
= 5,181,345
= 1,554,403

ESANLESMNAESLUS 121,900 124,800 A2,900
= 60,950
& 60,950

307 glz2told 121,900 124,800 22,900




EA HEELEIIEL
M ESMHALOGSHEASH(MESX/ES - Ot

Jh
He
2
0x

ool BEMHIAXS (2t5: &8 2)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
307 eI2t0lH = 60,950
= 60,950
02 PAANBE 121,900 124,800 2,900
O2SALEALRZEDS 121,900
2 60,950
= 60,950
HONOISERAILL AR 19,200 0 19,200
308 XSSO 19,200 0 19,200
0 NANSLHILRES 19,200 0 19,200
OZHOISESALYLEX 19,200
O HIZONSS T2 02| 5,000 0 5,000
307 BI2t0IH 5,000 0 5,000
02 LAANBE 5,000 0 5,000
O=o0f - HIZhSET=IB S 5,000
e e 30,000 0 30,000
307 eI2to|H 30,000 0 30,000
00 LIABNBE 30,000 0 30,000
OZooIES T2 IS HY) 30,000
ANSCESALBLTH2 Y 23,000 0 23,000
307 eI2tolH 23,000 0 23,000
2 SIABNBE 23,000 0 23,000
OBASCRSALELs 2| 23,000
EEEEE P 0,000 0 10,000
308 XXIEHSOIH 10,000 0 10,000
01 NASHILZES 10,000 0 10,000
BEEEETPE 10,000
BEAILE YN LI X 80,000 0 80,000
308 XXIEHSOIH 80,000 0 80,000
01 KASHALBES 80,000 0 80,000
(2 SALEAHAEI N 80,000
HLXAAL DD RHIX 30,000 0 30,000
308 XSSO 30,000 0 30,000
01 KASHBLRES 30,000 0 30,000
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EA HEELEIIEL

By BSNHAUNSAASH(ASRN/SS - HEL0S)
CH9l: B AU AX (S92l
SN -EHH . (B) - MPAY - BE2 0 Ak o4 e HRE2
REENENE N FENRE 30,000
OeslEEesxe 100,000 0 100,000
307 QI2t0IA 100,000 0 100,000
02 AHAEX 100,000 0 100,000
OG22 HEHESEXE 100,000
SEESSZ2 )WL XA 5,000 0 5,000
307 QI2told 5,000 0 5,000
02 SIHHNEE 5,000 0 5,000
JEEsTZ2 LR 5,000
ESESSMEIA 24,724,613 22,389,037 2,335,576
= 19,018,933
= 5,705,680
308 XHXIEHHISOIF 24,724,613 22,389,037 2,335,576
= 19,018,933
= 5,705,680
01 NXHMBILEXS 24,724,613 22,389,037 2,335,576
OE2=EssSAHdlA 24,724,613
= 19,018,933
< 5,705,680
ANEDI0IB0tsL=EXIA 2,152,020 0 2,152,020
= 1,655,400
= 496,620
308 NXIHHSOIH 2,152,020 0 2,152,020
= 1,655,400
= 496,620
01 XNXEHMILEXS 2,152,020 0 2,152,020
CA&010I 20t E LS & 2,152,020
= 1,655,400
= 496,620
otsde - =S 18,467,967 16,367,528 2,100,439
2 5,226,884
= 320,124
& 12,920,959
Ots= Xl W ALK& HIE 114,000 147,200 A 33,200




SN 8 EAEINED
By BSNHAUNSAASH(ASRN/SS - ot
PN

Jh
He
2
0x

S9OSR - 2XEA (St5: &8 2)
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
OLS = I W AHKI 2 M Ef = 114,000

307 eI2tolH 114,000 147,200 £33,200
=2 114,000

REIEIET RIS 114,000 147,200 33,200
CIOFS = Xl W ALKl 2 M Ef 114,000
2 114,000

NS 106,684 138,400 ~31,716
= 66,874
= 39,810

307 eI2t0IH 106,684 138,400 ~31,716
= 66,874
= 39,810

EEE 106,684 138,400 A31,716
OSSO S AN HEX & 106,684
2 66,874
= 39,810

225018825 162,470 158,205 4,265
= 92,840
= 69,630

308 KXEHSOIH 162,470 158,205 4,265
= 92,840
= 69,630

01 KASHALRES 162,470 158,205 4,265
Nee2sls1Ss8HEs 162,470
= 92,840
< 69,630

OIS Y YATRES 61,004 62,098 A1,004
= 50,313
= 10,781

308 XXEHSOIH 61,004 62,098 A1,004
= 50,313
= 10,781

01 KNASHILRES 61,004 62,098 A1,004
BEVESERTE e S 61,004
2 50,313




S A

HedEA8E0

B BEMHAYSAASH =U04)
cHol: oS R - SXSZ (eH9l: &2
SN I SRI(S) - NRAY - B sk Soe B RS2

= 10,781

Y= & 11,900 11,900 0
= 8,330
= 3,570

308 NXIHHSOIE 11,900 11,900 0
= 8,330
= 3,570

01 NXHMILEXS 11,900 11,900 0
D=z XA 11,900
= 8,330
< 3,570

YeotsL=s 274,153 276,420 N2,267
= 225,773
= 48,380

308 NXIHHSOIH 274,153 276,420 N2,267
= 225,773
L= 48,380

01 AXHHBLEXS 274,153 276,420 N2,267
Do gotsggag 274,153
= 225,773
= 48,380

OS2 E XA XX 547,740 547,740 0
= 451,080
= 96,660

308 AHXIHXMSOIH 547,740 547,740 0
= 451,080
= 96,660

01 XXEHHILEXS 547,740 547,740 0
Cots & X2 A EX 547,740
= 451,080
= 96,660

XE0tsdH2E X2 2,903,670 2,197,800 705,870
= 1,935,780
& 967,890

308 AHXIHMSOIH 2,903,670 2,197,800 705,870
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By BSNHAUNSAASH(ASRN/SS - ot
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Jh
He
2
0x

Sl oS - XS (9l &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2

308 KHAIEHHSOIA = 1,935,780
= 967,890

01 RXSHBA2ES 2,903,670 2,197,800 705,870
XSO S HIE &% X & 2,903,670
2 1,935,780
= 967,890

OtS =X WAIH X & 1,544,382 2,050,200 /505,818
= 1,271,844
= 272,538

308 XHAIEHHSOIA 1,544,382 2,050,200 /505,818
2 1,271,844
= 272,538

01 RXNSHBH2ES 1,544,382 2,050,200 505,818
(OIS =X RAIHH X & 1,544,382
=2 1,271,844
= 272,538

CRAEE ALY 1,250,000 0 1,250,000
=2 1,000,000
< 250,000

308 XHAIEHHSOIA 1,250,000 0 1,250,000
= 1,000,000
= 250,000

01 RXNSHBA2ES 1,250,000 0 1,250,000
(S YAEE A 1,250,000
2 1,000,000
= 250,000

ER0ISE LS 2 419,946 391,936 28,010
= 189,973
= 229,973

307 212+0I A 419,946 390,686 29,260
£ 189,973
= 229,973

EIEPNIEES 419,946 390,686 29,260
OZe|z2gXa(01Y) 258,280
= 129,140
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P PRERIE'
 BSNHIALOISHASH (ASI =X/
L OFSRO - HX S

Jh
0

0x

bl

SN C(BH) - NRAY - HES Aro L=t HlmE2
Ol &k
O IANE0ts=2U S A 8,000
OAIdOotEs S0 =M & 10,000
CIOtsSE XAl E S AR == 5,000
308 AtXISHX SO0I& 1,193,513 1,051,986 141,527
01 XXHNBHNEXZ 1,193,513 1,051,986 141,527
COtS=EXAIE2Z(012) 765,038
OJ1su=Hl 13,320
CIotH =& T3 9,630
&M =H| 8,820
Ow =X 8l 7,815
O 0 &yl 12,165
OAZZ &l 6,450
Oaldzteldl 34,905
OFHSAL LS 9,630
NN 176,640
(OFF-Ea=y 128,640
(OGP, 48,000
OEAOtSXHEEEZ(01) 136,500
CIHIA DOt SYSANE S S 2SXE 12,600
HHAR0ts2HEEH 302,344 272,559 29,785
201 Let3H| 3,000 2,700 300
01 At 2eld] 3,000 2,700 300
=20t A 3,000
308 XXIEHMSO0IE 299,344 269,859 29,485
01 XXHHILEXZ 299,344 269,859 29,485
O20tstsgds a2 XA 100,000
OAEHAEINE X2 (012) 20,007
O Y22 (01) 117,600
OadAEINE Sl d W=l 15,000
ENSENEW PSR ) PSR (I E=P) 9,720
OA284AEHIHE - JHEEOts 20,502




SN OEEAEIIED
By BSNHAUNSAASH(ASRN/SS - ot
PN

Jh
He
2
0x

9: OISR - SNEX (S5 &)
SA-EH O (BH) - HBAY - B2 Ao dd = HRS2
O & 04
[RENSENEPIPS| 16,515
Ots= A X 8,966,845 8,555,866 410,979
308 XXM SOl 8,966,845 8,555,866 410,979
01 XXISHA 8,966,845 8,555,866 410,979
OHA20tsS A X 8,784,309
O PIES=, 6,660, 165
Odst=sa 2,124,144
OZAols3 182,536
A A= 20,000 0 20,000
307 QI2tolA 20,000 0 20,000
02 QI2tEAME 20,000 0 20,000
O eA0ts D=L 2 XA 20,000
NEOtSHEHEIIIHZSI XA 20, 100 0 20,100
= 10,050
== 10,050
307 Q20| A 20, 100 0 20,100
2 10,050
= 10,050
02 0I2tFAE X 20,100 0 20,100
OXNE0tSHEZEIISHSI X 20,100
= 10,050
o= 10,050
BROISAEEZ ML 2,416,638 2,306,902 109,736
= 1,795,495
= 621,143
BALIIsEZ 1,619,538 1,715,902 N 96,364
= 1,264,095
= 355,443
403 ANXSHHSAE0|H 1,619,538 1,715,902 N96,364
= 1,264,095
& 355,443
01 XAXESHMA2EEX 1,619,538 1,715,902 N96,364
O AE)IsE22 1,619,538
= 1,264,095
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D HEEAEIIEY

D SRMUIALOIS OB E (ASI =X/ £20{4)
L BROISASEHE N 2 & 9l
SN I SRI(S) - NRAY - B sk Soe B RS2
= 355,443
Ots=XAEES 797,100 540,000 257,100
= 531,400
= 265,700
403 XXIEHSA=01H 797,100 540,000 257,100
= 531,400
= 265,700
01 AXIESHX=2E X 797,100 540,000 257,100
O0ts=XAI&E= 797,100
= 531,400
= 265,700
HdHAESHUES(ASEX]/ =0 - ,766,110 9,619,021 3,147,089
= 728,000
s ,564,000
Il ,594,230
= 191,924
& ,687,956
FAESEAE2IAEL ,873,200 3,930,000 2,943,200
s ,325,000
= 548,200
SEHAENAMH NS 812,200 0 812,200
s 624,000
< 188,200
402 QIEE0lM 812,200 0 812,200
s 624,000
= 188,200
01 BIZEXI=22 =X 812,200 0 812,200
OSEAEXAME S 812,200
Py 624,000
= 188,200
BAECEAUHAMHAEN 300,000 0 300,000
402 BIZ2HX =0l 300,000 0 300,000
01 QtR=8=x 300,000 0 300,000
OZa=SC3AHSEMHAENES 300,000
ANZEALEHSHAIZEAE 2,346,000 2,200,000 146,000

_25_




S A

HEEABEIS

g ABFAASA
Bl HAEABAIL (crel: @
SN FB oo Lo Soe RS2

NZELAE=E s 2,346,000

403 A XIEHHS K= 2,346,000 2,200,000 146,000
s 2,346,000

01 AXSHMIA=2E2X 2,346,000 2,200,000 146,000
OAzEad=s 2,346,000
[ 2,346,000

NZHELEA 2,915,000 1,480,000 1,435,000
[ 2,915,000

403  AHXIEHHI 2,915,000 1,480,000 1,435,000
s 2,915,000

01 XNXEHMA=EX 2,915,000 1,480,000 1,435,000
OAIZEAE HE == (70HA) 2,915,000
[ 2,915,000

CHEAESEA 500,000 250,000 250,000
s 440,000
= 60,000

402 2I2HX+E 500,000 250,000 250,000
s 440,000
S 60,000

01 2I2tA=2 500,000 250,000 250,000
OSE3AddlHES 500,000
[ 440,000
= 60,000

HAUSHESX 4,015,066 3,951,371 63,695
= 728,000
s 239,000
p) 1,594,230
= 1,453,836

CHAEESH 332,716 332,716 0
Il 89,770
S 242,946

307 220l & 332,716 332,716 0
Il 89,770
< 242,946
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EA HdEAEIIEL
M AMEH A al

=
s
=15

=

o9 HAHSSHEXN (5 &2
SN EB -GS - MBAY - BES 0 & 24 e HRE2

REIEIER=ES 332,716 332,716 0
OEHAHSSSHE2 YY) 332,716
ol 89,770
= 242,946

CHAESSXSHEA 190,000 190,000 0
| 95,000
= 95,000

307 eI2t0IH 190,000 190,000 0
o] 95,000
= 95,000

02 LRABNBE 190,000 190,000 0
OEELUSSSHE A 190,000
| 95,000
= 95,000

CHAGHERY 132,000 132,000 0
| 66,000
= 66,000

307 eI2t0|H 132,000 132,000 0
o] 66,000
= 66,000

02 ABNBE 132,000 132,000 0
m[=-PNEF[-E3- 132,000
| 66,000
= 66,000

CHAUSHNAME R 366,000 355,000 11,000
o] 183,000
= 183,000

307 eI2t0lH 366,000 355,000 1,000
o 183,000
= 183,000

02 PAANBE 366,000 355,000 11,000
OEHLASSNRLE X 366,000
| 183,000
< 183,000

HAESUNTIZ IMSA 180,000 140,000 40,000
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S A

A AN ERSRE (A=K /e - HA)
thel: FArUSHESTR (cro|: ® e
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2

HAEUSEINEZZ )H2A XA J| 90,000
= 90,000

307 QIZtolA 180,000 140,000 40,000
| 90,000
= 90,000

02 0I2tFAE X 180,000 140,000 40,000
OAUSHIIEZZ2 S AR 180,000
J| 90,000
o= 90,000

AMEINXN2NESLHEANESA 96,000 70,000 26,000
J| 48,000
= 48,000

307 QIZtOIA 96,000 70,000 26,000
J| 48,000
& 48,000

02 QUHBAEX 96,000 70,000 26,000
OAEHIXZ2USLAHEANE2Y 96,000
J| 48,000
< 48,000

TEAESSHANEFHAE X S AE X X & 19,440 19,440 0
J| 9,720
== 9,720

307 QIZtOIA 19,440 19,440 0
J| 9,720
= 9,720

02 QUHFAEX 19,440 19,440 0
O AESSHAIE XS A X XI& 19,440
J| 9,720
o= 9,720

CEHAESHANLEZZ )H2AXA 5,400 10,000 N4 ,600
J| 2,700
== 2,700

307 QI2t0IA 5,400 10,000 4,600
J| 2,700
== 2,700
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EA HdEAEIIEL
M AMEH A al

=
s
=15

=

crol: HAUSS SN (et9l: &2
SN BB SRA(SH) - HMRAY - B & ol e DS

02 QlztAAMEX 5,400 10,000 4,600
OEdAEsHANEEZZ - 5,400
Il 2,700
= 2,700

ANZZOHREE2SE 31,500 31,500 0
Il 31,500

308 KNXIHHMSOIE 31,500 31,500 0
Il 31,500

01 NXHMILEXS 31,500 31,500 0
OANZE0AR2=2E 31,500
Il 31,500

FAEHUS0HO0I2E K& ,084,500 1,154,175 A69,675
= 723,000
S 361,500

308 XXIEHMSOIA ,084,500 1,154,175 269,675
= 723,000
= 361,500

01 AUXHHMBAdEXS ,084,500 1,154,175 A69,675
OF 2GS NSOIHH0I2E X & ,084,500
= 723,000
S 361,500

HAEESIEAMBX R 75,000 75,000 0
p) 50,000
= 25,000

308 NXIHHMSOIE 75,000 75,000 0
Il 50,000
S 25,000

01 XNXSHHBILEXS 75,000 75,000 0
OSE A2 EAE 75,000
Il 50,000
S 25,000

THAEES}EXNE 134,000 134,000 0
) 134,000

308 XXIESMSOIH 134,000 134,000 0
P 134,000
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A HEEAHIIEL
M AMEH A al

(=
s
=15

=

o9 HAUSHBESIR CRRE]
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2

01 XXNHHBIAZXZ 134,000 134,000 0
OAZEAE2SEXNRA 134,000
J| 134,000

ANZEAE A A A X S AFBH XX & 275,760 276,840 A 1,080
J| 183,840
= 91,920

308 XAXIEHXMSOIA 275,760 276,840 A 1,080
J| 183,840
= 91,920

01 AXSHHI&AEXEZ 275,760 276,840 A 1,080
OANZEHAEHLEHAE XS AR X 275,760
Il 183,840
== 91,920

ANZEAGLEAIEZZ J)H2AXNRA 114,300 185,250 A70,950
J| 76,200
= 38, 100

308 XXIEHXMSOIA 114,300 185,250 AN70,950
J| 76,200
= 38,100

01 AXNSHHIABELTZ 114,300 185,250 AT70,950
OANZEAEEAEEZ IHRIIA 114,300
J| 76,200
= 38, 100

I AEEH2Y 99,000 99,000 0
J| 66,000
& 33,000

308 AXISHXMSOIA 99,000 99,000 0
J| 66,000
= 33,000

01 XXNHMBIAEXZ 99,000 99,000 0
O AEEH2YE 99,000
J| 66,000
T 33,000

S AEHEH2A 60,450 60,450 0
| 46,500
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2A: HdEAEIIED
M ANHAESAHY
=

o L

o9 HAUSSHEXS CEEED
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ HwsZ
= DIE-PNEFICEY- < 13,950

308 XX SHHSOIH 60,450 60,450 0
g 46,500
= 13,950

01 RXNSAZHEES 60,450 60,450 0
mEZBIEPNEFICEL 60,450
p] 46,500
= 13,950

N2HAESE X2 ME R 468,000 364,000 104,000
| 360,000
= 108,000

308 XX EHHSOIH 468,000 364,000 104,000
g 360,000
= 108,000

01 RXSHHBHSES 468,000 364,000 104,000
OAN2HAASE X ME XS 468,000
p] 360,000
= 108,000

= PNEEIEIER= 52,000 52,000 0
g 52,000

308 XX EHHSOIH 52,000 52,000 0
p 52,000

01 XASHMBLRES 52,000 52,000 0
mEPSEENEIETS 52,000
p] 52,000

HAUN LRSS KA 20,000 18,000 2,000
g 10,000
= 10,000

308 XXISHHSOIH 20,000 18,000 2,000
p 10,000
= 10,000

01 MNASHMBLRES 20,000 8,000 2,000
OHAGANL YRS N 20,000
p] 10,000
= 10,000
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